Roll No. ..............._ - H"1 991 1

BT 9 g INET, 2018—19
MATHEMATICS
i

(Hindi and English Version)
_[Total No. of Questions: 26) ' . [Total No. of Printed Pages: 16)
. [Time: 03 Hours] [Maximum Marks: 100}

Ader —
(i) & meT sifaard &
() mvm 185 a5 T s 3;?:'39'(1:(5:;5)
(i) 7o7 & 6 O 10 aF F9F 2 JF F7/
(iv) 7o # 11 & 14 TF AF 3 JF FT/
(v) W7 % 15 & 21 TF HAF 4 J5 T/
(Vi) T¥T 7 22 ¥ 26 T URAE 5 GF B
(Vi) 7% duv 7 srTeaEar &
Instructions:
(i) All questions are compulsory.
(i) Nos. 1to 5 are allotted 5 marks. (1x 5 = 5)
(i) - Nos..6 to 10 are allotted 2 marks. .
(iv) Nos. 11 to 14 are allotted 3 marks.
(v) Nos. 15 to 21 are allotted 4 marks.

(vi) Nos. 22 to 26 are allotted 5 marks.
(vii} Graph paper required.
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o1 ﬂﬁﬁmwm— - C (axs=8)
(i) V3o TITeE TR 2 - ' :

(a) ia - (b) 3 amadt .
()  Iremd ST (d) T X PE
(i) 989 p(x) =3x2+5% — . |
(@) ¥ 9gue ; b) s g
(c) FE:W@T:{ : (d) IR TgIS .
(iii) wTf¥ear &1 77 By & -
SN | SO}
(c) oXq 10 ' (d) 100 -
- w) ﬁﬂggﬁmma— s
(a) wrem (b) g
() FEaD d) R
(v) o E A o a R, A wwH g e @ —
@ 2 (b) 6a

(c) 6a? ' “(d) 62’
Choose the correct options - :

(1) Decimal expansion of V3 is-

(a) Terminating | (b) Non terminating - recurring
(c) Non terminating — non recurring (d) None of these
(i) Polynomial p(x) = 3x2+ 5is - ' |
(@) Zero polynomial ' (b) Linear polynomial
(c) Quadratic polynomial (d) Constant polynomial
(ili) The value of probability is -
(@) Zero : b) 1
€ Otol . S @ 100

(iV) Sum of ohservations is equal to - .
- Number of observations
(a) Mean . (b) Median
€) Mode , (d Range
(v) If side of a cube is ‘a’, then the surface area of cube will be -
@ a° (b) 6a
() 532 | d) 6a%
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uz Raw et @ gf) aifie - (.1><5=_5)
(i) 0 B REBT AT 90° W s TR &
(T T/ ) .
(i) Pr M miRaw Brrt P S E%EWTGI ardl <1 Pyt ¥ fepTifORT vt &1
(3reHI / |HT) |
(i) T B FER TG A s — . - HEerl &)
(a1 / ) - .
(iv) f¥ T B BT 8, T TR B GRT ATE i e BT R
| (nr¢/4mr?) | -l ..
() R R B B T B IY DB TOTA o 20
(3/3) ,
Fill in the blanks -
| (i) Two angles whose sum is equal to 905, are célled .....................................
(Complementary angles / Supplementary angles) .
(ii) | Median of a triangle divides it into two trianglesof ............................ ..areas.

(Uﬁequal / equal)

(iii) Longest chord of a circle is called

-----------------------------------------------------------

(Diameter / Radius)

(iv) If radius of a sphere js r, then curved surface area of the sphere is equal

£O.ueverrerasncesns (mr?/4mr?)

' . . 2 41
(v) The probability of getting even number on a dice thrown is.................. (— / '—-]
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93 ﬁ/m%ﬁm— |
() 3 g wemsl o1 A W AR B 2
(i) 3x+5 v s vgue 2|
(iii) y;kxa%waqa%ﬂﬁlmimanﬁawﬁgﬁmmmm
(iv) fag @2 0), WHERT y = 2x + 4 F1. 4 & 2|

(v) ”ﬁﬁﬁﬁﬁﬁﬂﬂﬁﬂﬂmm“‘r a’rfa‘rwmwaﬁﬂr
Wntc True/ False -

(1 )'Cl'.ézs)

(i) The sum of two irrational numbers is always irrational. |

(if) 3x + 5 is a linear polynomial.

(iii) A line which is represented by the equation y = kx, passes through ongm
(iv) Point (2, 0) is a solution of equation y = 2x + 4.

7 "
. W
I,

(v) If corresponding angles of two triangles are eﬁual then trii_mgles are: congruent.

14 U& 93/ I B IR QY — L (1x5=8)
(1) a@r A fafag |

(i) gfrers A v& R AT |

(i) 2x +3y=12 ¥ forem == &°

(iv) We AfF IR A AT Yervr FT BEerdl 87

(v) a@mﬁwmwmmmﬁ

Write the answer in one word/sentence -

(i) . Write the-value of a°.

(ii) Write any one postulate of Euclid.

(i1i)) How hlany variables are there in 2x + 3y =127

(iv) Name the observation, which éomes maximum times?

(v) What is the sum of four angles of a quadrilateral?
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ns ¥ S T - | I
W o = T
i) R 3w ‘ KR (@ (. 0
Gi) Wx%;:%ﬁaﬂmﬁ? ) 2
(i) 7 famg @ Priwie . © ';5
V) Mﬁﬁﬁ%wﬁamﬁﬁmﬁm @ 3

Match the columns-

Column ‘A’ ' Column ‘B’
(i) Abscissa of point (2, 3) - (@ 0,0
| (i) Power of polynomial x> + X2+ 5 is (b) 2
' -5
(iii) Co - ordinates of origin (©) rY
1
(iv) Zero of polynomial 2x + 5 (d) 2
. |

(v) The probability of getting a head on (e) 3

the throw of a coin
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%6 ‘2 s S drm @ oRha et e AR @)

. , 5 :
Find two rational numbers between 2 and g

| © ¥RETLOR |
(125)3
Simpiify-—-'.‘ _
- (12_5)§ |
:.%'ﬁ'@?ﬁﬁa’?ﬂﬁ@sﬁlﬁ‘iﬁﬁmﬁmm%ﬁw'" . ) @)

 In the co ~ordinates of point (4, -5), write the abscissa and ordinate.
ST / OR §
fa=g (0, -Z)Haﬁ (2, 0) fa 387 w fRera 2, ﬁ*‘{ﬁém S
Write tile axis in which point (0,-2) and (2, 0) lie. |
8 3ifwgl 14, .25,_ 14, 28, 18, 17, 18, 14, 23, 22, 14, 18 BT TgTdH TG BT )
Fi;ld the mode for the'data 14, 25, 14, _g__E_!.._1§:.l_ 17, 18, 14, 23 22, 14, 18. :
FioraT / OR
T wen @ el @ SEngai 155, 160, 145, 149, 150, {47, 152, 144, 148 & T3 %‘..37{
sifwsl N AftaswT sTa B | |
Heights of students of a class are given as follows: 155, Iﬁﬁ, 145, 149, 150, 147, 152,

144, 148. Find the median of given data.

rg_-'-]] . |  Page 6ot 16

https://www.evidyarthi.in/



w9 ﬁw‘x‘ﬁ’imfﬂ‘?ﬂ@'ﬁtﬁmmﬁaﬁw“ﬁﬁb%,am?@jmmmmiﬂﬁwm)

It the base-of parallelogram is ‘a’ and its height is ‘b’, then find the‘arca of the.
parallelogram.
Ay !OR' '
fr ¥ aft ®HR wfo ABCD @1 & 50 Tf ¥, 2 it AABE @ ﬂ‘ﬂﬂﬁlﬁ
S HIOTY | BT iR |

l[n a figure, the area of parallelogram ABCD is 50 sq. cm, then find the area of AABE.

- (J1ve reason.
D E

C .

L)

-bq
"?3

B

10 7 . Frear T S F1 g A ST AR o @)
Bind the curved sufface of sphere of radius 7 cm.
TR SO / OR
qas ‘Emlfm SR LRI aﬂﬁq‘ﬁ?maﬁ Yol 6 AL él

- Find the volume of a cube whose side is 6 cm.,
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1
V5 42

) . 1
Ration 1
1onalise the dcnommator_s of N

a1 /OR
0.8 B % w9 ¥ g :
Express 0.6 in the form of‘g,
J12 W3f+5=7ﬁﬁaﬁﬁﬂﬁ;{ g 3
Solve the equation 3x + § =7,
AYAT /OR

U& AT A WS G BT AT 27 B, wﬂﬁ?ﬁmmﬁm@%’éaﬁﬁmi
Sum of a number and its double is equal to 27. Write it in the fc)rm of equation and solve
it.

013 3ndfa A x 3R y @ 99 T4 P | ()
In figure, find the value of x and y.

SOA

X

130°
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AT / OR
st # aft AB 11CD, L APQ=50° 3R £PRD =127° &), a x 3R y s @

In figure, if AB 11 CD, £ APQ =50° and £ PRD = 127°, then find x and y.

A P B
« 50° =
‘ 127°
& =
Q R |

u.14'QEFi‘g'§Gf$HﬁUT3:5:9;13$mﬁmﬁﬁglﬁﬂgﬁa$ﬂﬁﬁm§mﬂﬁﬁml @)

If angles of a quadrilateral are in the ratio of 3 : 5 : 9 : 13, then find all the angles of the

quadrilateral.

Sar /OR
afy v@ W agel @ Rt awes @, ar 3viiEy 6 98 0 Imad g vl

If diagonals of parallelogram are equal, then prove that it is a rectangle.

WAS MG A B - (4)
- Find product —
(x+4)(x+10) .
| |
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AT /OR
Yz'—5y+6$r11t’1=r@‘@$ﬁq—

Factorise - Y2 -5y +6

FA6 P T H Regal 4, 8), (-, ) (6. ~5) SR (-4, —5) 1 vt P A

Locate the points 4, 5), (-4, 5), 4, -3) and (-‘4, -5) in the Cartesian plane.”

| 31T /OR
TR 1. 2) 6. 6). (-5, 9) o 0, —s) et gt 4 oo £

In which quadrant points (1, 2), (5, 6), (-5,-3) and (4, -5) lie?

R17 T s XYZ 9 <o #ifrg R £ Y = 30°, £ 7 = g0 3ﬁ'{}ﬁYJ’+'i-’Z+ZX= licn

G 0
Construct a trianglc XYZ, where /Y = SQ°, _{_z =90° and XY + YZ+7ZX =1 lem.
amaT /OR
P it &t <= A -
(1) e0° | _(2) 90°
Construct the following angles -
1 60° - @ 0
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718 2aﬁﬁaﬁ%moqﬁmﬁmmwﬁmw%sﬂ?ﬁmﬁrﬁaﬂaﬁﬁﬁmﬁmw

5 (a)

[aRar # wefdal 31 F@n B 2 1 0

uRaRT & HE 475 814 211

age T T 96 ARAR ) S T B R —

) TF TR |

(i) P FATH A B

1500 families with 2 children were selecﬁ:_d randomly and the following data were

recorded -

Number of girls in a family 2 1 0

¢ Number of families 475 | 814" | 211

Compute the probability of a family, chosen at random, having-
(i) One girl

(i) No girl
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| 44T / OR
.wﬁﬁ?ﬁﬂﬁwmilmgﬂ?ﬁﬂ?mﬁﬁsmftﬁmwﬁlE|a‘ﬁm={=ﬂ"{
ST @ s o AR o

In a cricket match a batswoman hits a boundary 6 times out of 30 balls'she plays. Find
the probability that she did not hit a bo;mdary. |

219 R AR B Rl THaTg Brpe @ TG BT B A 60° B 2

Prove that each angle of an equilateral triangle is equal to 60°.
’ Na i

(4)

Lo .
J4es + g

37T /OR

%Wﬁﬁmﬁﬂ@ﬁwaﬁwgmaﬁzﬁwaﬁwwmm
Prove that angles oppoéite to equal sides of an isosceles triangle ate equal.
%W%ﬁﬁwﬁaﬁﬁwmwmlmﬁl

Prove that equal chords of a circle subtend equal angles at the centre.

4.20

31oraT / OR
sy § L ABC=69° ok LACB=31° &, £ BDC ¥ H |

" In figure, £ ABC = 69° and £ ACB = 31°, find £ BDC.

Page 12 of 16

[911]

https://www.evidyarthi.in/



.21 Qﬁﬁﬂﬁ?aﬁaﬁrﬂ@$maﬂamgﬁﬁaﬁM7waﬁv%mﬁzaﬁﬁ|
3 PR B 10 AN T B RIY AETIF T BT &IHA T BT | (4)

A Joker’s cap, is in the form of a right circular cone of ‘base radius 7 cm and height 24

cm. Find the area of the sheet required to make 10 such caps.

. -y
b s o'k g

‘HqY4T /OR

A

frft e @ HIY 40m x 25m x 15m ¥ | 6 ME F 1.5m x 1.25m x 0.5m &
mﬁaﬁ%%ﬁmﬂaﬁt?@mmﬁl

A godown measures 40m X 25m X 15m. Find the maximum number of wooden crates

each measuring I .Sm’X 1.25m x 0.5m that can be stored in the godown.

122 (3a+ 4b)? aﬁnﬁlﬁamﬁm| ()

Y
Write in expanded form -

(3a + 4b)*
37e[4r / OR
e B
X2 +y3= (x+Yy) (E=xy +?)
Verify -
Xty = (x+y) =Xy +Y9).
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w23 vh TR ¥ S o fowmn Preferd g ()

%ﬁmﬂammaz.ammwaﬁ@zﬁmuﬁmmmsz

%laﬁmaﬁﬂéqﬂxmﬁaﬁ’t Gﬁ??ﬁﬁﬁﬂmy?EﬁﬁTMWWW'
faftay ok sa@r e Wi

- The taxi fare n a city is as follows: For the first kilometre, the fafc'is ¥8 and for the
subscqucnt distance it is ¥ 5 per km. Taking the distance covered as x km and total fare
as y. Write a linear equation for the gwen information and draw its graph

P
4T / OR |

mﬂwﬁ%%ﬁﬁ.w-mﬁwmamﬁswﬁ%&ﬁﬁwmﬂ

ﬁwmﬁlwﬁwﬁmﬁmmmmmmﬁm
™R

_ {9
F= (e
(i) uﬁmmsu“C?,?ﬁtBﬁmﬁW‘amm?
(i) 'ﬂ%ﬁﬂ'ﬂﬁngg.ﬁmﬂﬁlmmiﬁTﬁ?

In countries like USA, temperature is measured in Fahrenheit, whereas in countries hke
India it is measured in Celsius, here is a linear equation that converts Fahrenheit to

- Celsius.

F= (%)c+32

(). 1f the temperature is 30°C, what is the temperature in Fahrenheit?

(i) ~ If th temperature is 95°F, what is the temperature in Ct;.lsius"
[911]
v
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nz4ﬁgmABCaﬁ3mﬁmaoﬂaz¢ﬁaqaazﬁa%ﬁgmmmwﬁ
BT | ()

If sides of a triangle ABC are 40 m, 24 m and 32 m, then find the area of triangle.
- 3ET / OR

UF PR qEs #1 ol &1 aFur 3 0 5 0 7 & 3R I9ar aRE 300 drer 2 =¥
wwﬂmmaﬁﬁﬂql

The s1dcs of a tnangular plot are in t.he. ratio 3 : 5 '7 and its penmcter is 300 m. Find its

area. -
¥25 FrafaRea snieel & JRE w9 ¥ wrafed frar Tar 2 Al iwSt @1 WA 63 &), a
X ® AE W@ el : (6)

29, 32, 48,50, Tix+2, 72, 78, 84. 95

The following observations have been arranged in ascending order. If the median of the
data is 63. Find the value of x.

29, 32, 48, 50, x, x+2, 72, 78, 84, 95

- - 3T / OR
& ¢ wroh B fore T FrT TR U9 PrefiRed get 3 9w AR -
[# [ o-20 [20—40]40-60 600 80-100 | 100120 | 120140 | &e1
: \il‘l'\'ﬁlﬂm 6 7 4 3 | 2 2 6 30

i) fra g § IR wa e 82
(i) &7 W@l ¥ IRERGr GHH 27
Draw histogram for the given table, also give the answer for following questions —

Marks 0-20120-40 | 40-60 | 60-80 [ 80-100 | 100-120 | 120-140 | Total
Frequency 6 7 4 3 2 2 6 BQJ

S—

(1)  Which group has maximum frequency?

() Which groups have same frequency?
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W.26 mmwma.s_mmquiﬁm(W)%Iﬁ%mﬁﬁmﬁ?%@m: .
Zgrg (mm’® #) & aTaEsar B? ©)
A capsule of medicine is in the shape of é. sphere of diameter 3.5mm. How much
medicine (in mm?) is needed to fill this capsule?

3T /OR

Wﬁﬁ??ﬁ?@ﬁmﬁlﬁm?ﬁwwzoﬁ.ﬁwquﬁﬂ%%
AR o 0. A 2, A A 14 TR T H R B Pl @) omavaEar gnfi?
The pillars,of a temple are cylindrically shaped. If each pillar has a circular base of
radius 20 cin and height 10m, how much concrete mixture would be required to build

14 such pillars?
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